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1)  All questions are COMPULSORY.
2)  All questions carry EQUAL marks.
3)  Assume Suitable data WHEREVER necessary.

Q.1 a. “Theintentand the act must both concur to constitute a crime” Explain this statement
with appropriate illustrations.

OR
b. Distinguish rioting from affray. Explain communal violence.
Q.2 a. Whatis wrongful restraint? Distinguish it from wrongful confinement.
OR

b. What are general exceptions under Indian Penal Code? Explain Mistake of fact and
Mistake of law.

Q.3 a Differentiate hurt from grievous hurt. In a police firing, a man lost his left eye
Whether that amounts to grievous hurt?

OR

b. State the circumstances when culpable homicide does not amount to murder? What
are the aggravating factors? Explain with case laws.

Q4 a How do theft and extortion become robbery? When robbery can be branded as
dacoity? Explain with illustrations.

OR
b. State briefly criminal misappropriation of property and criminal breach of trust.
Q.5 Solve the problems (Any Two)
a. A was beating B with fists. The wife of B being beaten intervened with her baby in
arms with a view to rescuing her husband B. A gave blow to her also, which struck

baby, as a result of which it died. Decide what offence is committing by A.

b. There is a pre-arranged plan between A and B to beat C. During the beating, A tells B
to murder C. Consequently B murders C. What offence is committed by A and B?

¢. A and B steal some fruits in large quantities from an orchard. When both of them were

stealing the fruits C suddenly appears there and C was knock down by both A and B
with a stick. What offence has been committed by A and B?
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